Math 55 Ch. 2 Practice Test Name:

Double check your solutions! Use Algebraic Notation AND Show All of
Your Work. You may not leave to use the restroom. You may use a
calculator, but not any scratch paper. Students are not allowed to share
calculators!

1. Solve x—7=-16

2. Solve T 13
6
1 1 1
. Sol —rx—— =44+ -
3. Solve 4x 5 + 3:(:

4. Solve 3(x—4)+2=x+2(x—5)

5. Solve the following formula for y: 6y —H=z2+uxy

6. Turn 2.3% into a decimal number.
7. Turn 2% into a percent.

8. What percent of 60 is 427

9. Solve 7 — 3x > 27 + 2x  Write the answers in both set-builder
notation and interval notation.

3
10. Solve 7 <1 — Za: Write the answers in both set-builder notation
and interval notation.
11. June’s assets were originally valued at $78,000 in 1964. Today, her
assets are worth $835,000. What is the percentage increase in value

of June’s assets?” Round your answer to the nearest whole number
percent.

12. The sum of two consecutive odd integers is 116. Find the sum.



13. Jilly wants to brag to her friends on twitta and facespace about how
much she saved on a new Louis Voittan handbag she just purchased
using her credit card through shamazon’s website. But she doesn’t
know what the original price of the handbag was. Jilly only knows
that she paid $320 and was told it was 36% off of the retail (original)
price. What was the original (retail) price of the handbag?

14. The perimeter of a triangle is 225 cm. If the sides are consecutive odd
integers, find the length of each side. Please include the units.

15. Solve §:r: =6
4
16. Solve 2.6 — 3.2 =7.6 — 4.9z

17. Solve -6z < 42  Write the answers in both set-builder notation
and interval notation.

3 1

18. Sol —y—= >
Ve Y T6=3

and interval notation.

7
—y  Write the answers in both set-builder notation

19. Solve the following formula for y: 20 — 3y =6
20. What number is 42% of 7147

21. George and Marisol are hiking from San Diego, California to St. Louis,
Missouri for a distance of about 1455 miles. The have hiked four times
as many miles as they have left to go. How many miles do they still
have to walk?

22. Harrison buys wood for a rectangular picture frame she is constructing.
The perimeter of the frame is 138 cm. The length is to be 17 cm more
than the width. Find the length and width of the outer edge of the

picture frame.

23. Jilly landed a job in the valley and must now move there from Col-
orado. She can rent a small truck for a daily rate of $38 plus 19 cents
per mile. If she takes three days to move, express as an inequality the
number of miles she can drive and still stay within her budget of $230.



24. Five faculty members volunteered to pay for food and drinks at a
holiday party. Bob paid $250, Alice paid 19% of the cost, Teresa paid
two fifths of the cost, Harry paid one fourth the cost and Mac, who is
independently wealthy agreed to pay $550. What was the total cost of
the bill for food and drinks at the party?

Answers

1. -9

2. -78

3. -50

4. Every real number is a solution.

z+5

D. Y = 5 f:c

6. 0.023

7. 52%

8. 70%

9. {z] = <-4} (—o0, —4]
10. {z| =< -8}, (—o0,-8)
11. 971%

12. 57 and 59
13. $500
14. 73 cm, 75 cm, 77 cm
15. -8
16. % or 1.44
25
17. {z| =>-T}, [-7,00)
18 {yl y=-2/19h  [-2/19,00)
19. Y = g -2
20. 299.88
21. 291 miles
22. W =26 cm and L =43 cm

23.  $38-(3) + $0.192 < $230
24 $5000
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Math 55 Ch. 2 Test

Double check your solutions!
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Use Algebraic Notation AND

Show All of Your Work. You may not leave to use the re-
stroom. You may use a calculator, but not any scratch pa,per

Students are not allowed to share calculators!
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1. (3 points) Solve z—T7=-16 147 9
)(+ 67) = *'é CLO.CK X— 1= *‘{ [’I
(=(1)+7 = _16 0 g
, 97 =1,/
X+ 0 :«/’9
)('-’-1 _? . f@: ‘[L
KQV(}
2. (3 points) Solve —%:13 o[ -18
~L 2 Cleck
x =13 X
4 | - v — ,3
"_ér, ‘__(é,,)(: —-¢ -13
- 7y .
lx = 7% C
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.._ler_{_L - “Q’l*’qx
PEEE
"XrG = 50 +Q
; (evy
—\y=50"

)(:50 :
’J%( = 2% D
4. (4 pofmts) Solve 3(z—4)+2=xz+2(z— 5) A

S 3 +2 = Xy dy-2-5

gl = A 2g 10

'3,(+('i1)+1 = 3% _,»(“D) |

O ~-\0o = 0 + 0 -
Cpern 2ol N b2 -
-\0 = "\ =) O Zsoldon b Betqn, |



- 5. (4 points) - Solve. the following formula for y.

6y —5=z2+2xy -

év-S :1+xn

Q,{) +(—5) = 7_.“')(9

Gy~ (5)+5 = Z+Xxy ™S5
ey w0 = 2% 5'+xv‘)
(qo = Z +5 +XY
Gy - XY = 2 €5 X9 =XY

Gb /s(‘? = Z+5
| (Q "X>3 =Z+S

j (é“){)‘ﬁ _ 7+5

6 —X

C—X
_zt2
9= ¢ -X
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6y —xy = Z+5 | - v
6. (1 point) T\grn 2.3% into a decimal number. 6 O' 043
. S 13 : : " 4
7. (1 point) Turn 9 into a percent. J}, 1 = i_}'/ 7 l\_gm
. 15 <Y (R4 .
8. (4 points) What percent of 60 is 427 8
p o=
2
= o
|
f) = 0,77




9. (4 points) Solve 7 — 3 > 27+ 2z
builder notation and interval notation.

. 1 de ] e
11 DOTTI=SCr

- - ).Qf’l{z
[+ 3x = 277 A

| Coe il
-1+ T7HC

L

0 + 5% z ro t0

Write the anSWGJFL

-Sx = Jo
”SJ( < Lg
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x = -4
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10. (4'points) Solve 7 <1~ 7% Write the answers in both set-build
S nétatipn and interval notation.

\e9) 1@’3 Z

7<= 2y

10L(_ 5<)/'8 :




11. (4 points) June’s assets were originally valued at $78,000 in 1964. To-
day, her assets are worth $835,000. What is the percentage increase
in value of June’s assets?” Round your answer to the nearest whole

6«‘ Vz.k\«s?- is 'wa, iInoaal l:x valle
11 %

(s (Y?@aao-7&@)
11,

number percent.
P Percest He orlgla

p peress of 10,20
P.‘YX&% = Y38, e300

"lzmb{) = ’137}_5775
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P e (@Y
p= 9.705

12. (4 points) The sum of two consecutive odd integers is 116. Find the

integers.
\.\ 51 C\'\’;;‘
12—

)(+(x+1)—-=({e

X+ x+ 1 =¢ _)_i(_; (M Check
s 2
W+ lxx2 =t | ) - 5’7
B - x=5 +59
2x + 2 =16
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2p. (4 points) Jilly wants to brag to her friends on twitta and facespace
about how much she saved on a new Louis Voittan handbag she just
purchased using her credit card through shamazon’s website. But she
doesn’t know what the original price of the handbag was. Jilly only
knows that she paid $320 and was told it was 36% off of the retail
(original) price. What was the original (retail) price of the handbag?

) | ) /60 ;
< 0(\13\'\“5 - 3 6% d/c ov !3\;\~\ — P\L‘\C'\\G\S,( -
pric - -

Y —¢3Cx = 320

O.CYx = 20

0,5"‘,( _ [977)

/’__.._.-——/
0.(4 a. .4
(- ) 5 00
(4 points) The perimeter of a triangle is 225 cm. If the sides are

consecutlve odd integers, find the length of each side. Please incl
the units.

X+ (><+'1) + (x-p"f): 145

X+ X+1+ x+ 4 =228

Iy+b = 225

3x=ax5-¢
gx:&fq
Iy 20

-
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3 -8 _ -aM
ii.y:i'_é_ ’4/”—'"“’:“/
by 3 l 3
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3
(x=-2]
6:2 2. bx=3 0 = 7.¢-4.94

[0 (JT,Gx—ZJ.) .: ) (7,(,;%,9,()
Lox =31 = 16 -4y

26x -3+ 3) = 26 -4 9x +3)

263 +0 = (08 -4«
Chos ke

2.6 (144) 3 = 76 =49 (04)

J\éx +49.¥': lﬂg"“{ 9;{ 1—'{9/(

154= {8 2.544 = 2.544
75)(,,-:: 108
154188
95 75
K= 108 =73
75 = 3
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@ _1)<-—3\/) = 6
Lx +k‘3\9\) = C Since CL«-L; = q+(‘£>>
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